AJKO BANK EXAM QUESTIONS

05/07/2025

. Choose the correct alternative from those given below. We asked the guest what
placesthey .....ccccceeuennen.e. the next day.

A) would be visiting

B) are visiting

C) will visit

D) had visited

. ‘Weal and woe’ means...

A) happiness and sorrow
B) wealth

C) sorrow

D) troubling thing

. Which of the following is the correct meaning of ‘sugar-coated pill’?
A) sweet medicine

B) bitter advice in sweet words

C)

D)

capsule surrounded by sugar
doctor’s prescription

. What is the meaning of ‘gratis’? Choose the meaning from the following:
A) to be grateful

B) to be paid well

C)

D)

to be paid later
without payment

. Choose the correct antonym of ’equality”

A) in equality
B) enequality
C)

D)

unequally
similarly



10.

11

Which of the word has the same meaning of COLLOUS?
A) stone

B) unkind

C) loud

D) suitable

Everyone clapped, select the correct question tag to the given sentence.
A) would they?

B) don’t they?

C)won’t he

D) didn’t they

Identify the kind of sentence given below: If you speak the truth, you will never regret
t.
A) simple

)
B) compound
C) complex
D) none of the above

We have funds which would be enough for the work. The underlined clause is:
A) noun clause

B) adjective clause

C) adverb clause

D) no clause, it’s a phrase

Geeta is taller than her sister. In the above sentence the superlative degree of the
underlined item would be

A) tallest

B) older

C) eldest

)
D) oldest

.TEhT DI Gled YhRTAT HoRICATHLY %.1,40,000 AT 3Med. a1l

UfelTe & PoRIE AT 12% 3AT0T HoRIE BaT 16% 3 3Te. TehT HEFAR
HoI B AN AU & HoriW AFUIS Iau]hrar 40% g b g
AP AT, ITell Iau! S Sk fohdt gfdensr figg erpar?

A person wants to invest 1,40,000 in two types of bonds. The annual return is 12%

on bond A and 16% on bond B. One of the conditions requires that the investment in
bond B cannot be more than 40% of the investment in bond A. What is the
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13.

14.

maximum return he can get peryear?
A) Rs. 15600
B) Rs. 16800
C) Rs. 19200
D) Rs. 20800

TepT TATAT Afeara@md!, A IaR=IT dRWT FHIEIT 3Ted. AT, =T

AT 15 dRWEAT IR B 3 TA?

For a certain month, the dates of three of the Sundays are even numbers. Then, the
15th of that month falls on a?

A) Thursday (T[¥dTX)
B) Saturday (QIfaR)

C) Friday (Q!Eﬁall)
D) Sunday fddar)

TehT 3TAATHAT TT0ATT STRATT ¥Rooo fere Urofl 31Me. SR ST o
& HIEX A 3IMOT FTEAT T6F 3.9 HeX 3-¥d X SR @relr foheT,
AR AX
B) g #eX
C)& #Hrex
D) ¢ #HIX

TehT qUIHRAT TAToIeX fohcT 3TMe?

. 2 JNTAaR Tehale AT Ted Tahd 11,025 I Sahl Bld.

1. 2 AR g IFhH T AT died 11,000 I ST BId.
I1I. 10,000 X YFeh A T[daelell 3Te.

What is the rate of interest per annum?

I. The amount becomes Rs. 11,025 with compound interest after 2 years.
Il. The same amount with simple interest becomes Rs. 11,000 after 2 years.
Ill. The amount invested is Rs. 10,000.

A) | fhaT 11 (1 or Il only)
B) Il fhar 11S=h (Il or 1l only)
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16.

C) I fhar 111%® (1 or il only)
D) | fchar 11 fhaT 111 (1 or Il or 11l only)

Tl {THATAT IR JUINWITTAT TBeATSl 0T Tehdle eaTel ATATdTl Bl
foreT 3r8er?

|. ST &Y &.91.56.20. 5% 3Te.

II. 8 IET3WIT A IFhA BT 2000 X fHad.

1. 2 IETHENT TXbeATST 30T Tehdle TSI HBleh 12.50 I 3718

What would be the difference between the simple interest and the compound

interest on a sum of money at the end of four years?

I. The rate of interest is 5% (Per Capital Per Annum)

Il. The sum fetches a total of ¥ 2000 as simple interest at the end of 8 years.

lll. The difference between the simple interest and the compound interest at the end
of 2 yearsis¥12.50.

A) % 11 (11 only)
B) % 11l (11l only)
C) Wk 11 Tk 111 (11 or 11l only)

D) I, 11 3107 11& A=l 3MaeTsd 3ed

Uh {&hHA WSS & JUTHALY o % [ dled. T & FUY §o00 -/ T
3 dYTAdR ThedTS TSl fohdl 318,
A) T.3960/-

B) %.3%30/-
C)%. 3’WR/-
D). &¥o/-



17. TR YUY 3NBW fHAT e SdTaT FeoTd, "foedn Jaa™ a8ia © A

18.

19.

TAdelAd AT, dX 379U UhaATT oY PIoT?

dIErar d9T Y UTATd areredT d9edT 5UC 3T, AT B S gdteredn fele

SO 1.1 dTEET 9 SRTdl. Uise A JTOT Ufse B el draTd 37X 13.2 fopaft
3Te. 312 fAfATHSY yarerear Oeg Qe eard fhdr 3iax (forely 71¢9))

PIAT SATSeT?

The speed of the boat in still water is 5 times that of the current, it takes 1.1 hours to
row to point B from point A downstream. The distance between point A and point B
is 13.2km. How much distance (in km) will it cover in 312 minutes upstream?

SIS BITSTHYST PRA afSeT TG USel ST, Dictel eIl GURT 4 dTSTell
ged. Teh TGaRll dielst ATANIET Teh dre 3l oo, Fer [a=an wrahs S
amarel. faa afiar, a1 aegfeydiasd 3afae 3radia, X d AguaA =)
TSAT, 3TUAT Hellell & FEcATd Aedid, d el 85 Ageidet 15 fAfaer med
TR Uleradid. TSIl ATl 997 10T aigeredr s a7 I UM
fepcly 31me?

Sneha is picked up by her father by car from college every day. The college gets over
at 4 p.m. daily. One day, the college got over an hour earlier than usual. Sneha
started walking towards her house. Her father, unaware of this fact, leaves his house

as usual, meets his daughter on the way, picks her up and they reach the house 15
minutes earlier than usual. What is the ratio of the father's driving speed to Sneha's

walking speed?
A) 7:01
B) 6:02
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21.
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C) 5:03

D) 4:04

AT 90 TEaHTHEY HIHDISIT Ueh HIIT & Ahdl, BET 40 IGIHHLY 30T C &l
12 feaaiaed, Al ST U fead AUl HI el FgUTal Uleedr feash
A gERan feat B 3nfor fawRar feadh ca del. AR A geear
feaamardr @ der 3O 3T Al g FeT dueHaaR ST 240 IUY
fHaTel. SR cATeAThgA PeledT HIATIT GATUNT AN TIHTTEN el X

Ucdorell fohdl fHoder o e,
A can do a piece of work in 90 days, B in 40 days and C in 12 days. They work for a

day eachinturni.e., firstday A does it alone, B does it the second day and C the
third day. After that A does it for another day, and so on. After finishing the work they
get Rs. 240. If the wages are divided in proportion to the work done by them, find
what each will get.

A)AT 24,BT 54 IO C¥F 162
B)A¥ 22,B% 50 3T0T C¥ 132
C)A% 26,B% 523707 CT 142
D)A¥ 20,B% 44 310 CF 182

QT PIUTT GEEAGR TR ST MO TR STATAT A=
fIITaa e 1T TadT 3TANT TATYA ol

By which Amendment, Scheduled Castes and Scheduled Tribes commission is

divided and made separated commission?

A) 65dT (65th)
B) 69dT (69th)
C) 85dT (85th)
D) 89T (89th)

el eI IRl guressaRh suAT Sl delt?
Who nominated the term, “Opposition leader as alternate Prime Minister”?

A) farefira gidhfe (William Hokart)
B) JiTdred 31TEET (Grainville Austine)
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24.

25.
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C) AR SET (Ivor Jenning)
D) 3fe1¥C g (Ernest Birkit)

PRI AN Bt fGaslt e srgarel dauara Ieha i Jiar gy
hell?

On which day Sarakaria Commission handed over the report to Prime Minister Rajiv

Gandhi?

A) 17-10-1987 (17 October 1987)
B) 27-10-1987 (27 October 1987)
C) 07-11-1987 (7 November 1987)
D) 17-11-1987 (17 November 1987)

‘BRICS’ T QUIRT

Full form of BRICS:

A) SITSTeT, TTAAT, STSIT, ATIAT, ATHA 3ThedT (Brazil, Russia, India, China, South
Africa)

B) g’%‘m, é@m, AT AT, 3Cled, JUTS (India, Indonesia, China, Bhutan, Nepal)

C) FITAHAR, UTh, Tfra, 3%‘&1 IMIAT (Myanmar, Pak, Russia, India, China)

D) SIS, FIATHAAR, AT, ITIAAT, TTHY AT (Brazil, Myanmar, Russia, China,
South Africa)

GrofTedehT PIUTAT TEATGEENER HRAT ASTTCAAS Pold 45 ATl
faSITASY gge oA 3T

By which of the following amendment the subjects of article-45 of Indian

Constitution were changed?

A) 42 dY geordia W (42nd Constitutional Amendment)
B) 44 dl. TeAdT W—ﬁ (44th Constitutional Amendment)
C) 86 dl TeuldTe W—ﬁ (86th Constitutional Amendment)
D) 97 dr geuldrd W—ﬁ (97th Constitutional Amendment)

EVM (Electronic Voting Machine) dT dTU¥ faareT g iéagm;ﬁm& 50 Adcld

dhgTak Ufeedier 1982 ALY HRATT PIS IUATT 3Teil?

In 1982, where was the EVM used first time in India at 50 polling booths for
assembly elections?




A) #eRTE (Maharashtra)
B) s (Kerala)
C)deTed (Karnataka)
D) IMdT (Goa)

27.FIdT HARATATS 318 PIUd T gd [T Ss-ais 307 cd-gded da8 TR

e

Which was the state in Independent India where the government was formed after a

combination and change of forces?

A)UTg (PEPSU)
B) AGIA (Madras)

C) 3TYYERT (Andhra Pradesh)

D) TIGEATA (Rajasthan)

28. 31T ofrar
(e 3)
) A dEh
q) oS Seferd
&) o. HPeId STAD
3) #ft arerde g

I d§ & g
1.0 dii v
2.0 0 v
3. v i i i
4. i v o0 i

Match the following pairs.

A] Lord Bentique

B] Lord Dalhousee

C] Barister Mukundrao Jaykar

(I )

1)3s <P S

2) ATdelicih ITUHTH W
3)&f3aa Vs Scgudic HfAfe
4) ReFd= TR e fafdes

i] Grant Trank Road
ii] Public Works Department
iii] Indian Road Development



D] Sir Walchand Hirachand

29.

30.

A B C D
)i i iv i
2)i ii iii iv
3)iv i ii i

4)iii v i ii

“Red shirts” @1d ITSUT I dhel?
Who formed ‘Red Shirt Union’?

A) ATFT (Marlx)

B) fEATHR (Bismark)

C) IaTe3r (Garibaldi)

D) $#ge3Tel (Emunual)

SISAT S SR A9 gy et
31) If@e "RfA ¢ gfaga widg
g) 3f@a aRfay fera= saw

&) ROl weemR T

T) EHACHIG cacled JSNTATAA

3 El il g

) i i iv iii
) iii iv i ii
3) ii i iii iv
) .

iv] Hindustan Riarcraft Limited

1) 1936
2) 1920
3)1918

4) 1928



Match the following pairs.

A] All India Trade Union Congress i] 1936

B] All India Kisan Congress ii1 1920
C] Mill Majdoor Union iii] 1918
D] Ahamadabad Textile Labour Association iv] 1928

31.In CIBIL, the letter B refers to ......
A) Bureau
B) Bank
C) Banking
)

D) Balance

32.In NPCI, the letter P refers to ......
A) Payment
B) Profit
C)
D)

Private Banking
Balance

33.In IRDAI, the letter D refers to ......
A) Debtor
B) Domestic
C) Deferred

D) Development

34. Which of the following CIBIL score is known as maximum core?
A) 950
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36.

37.

38.

39.

B) 900

C) 1000

D) 750

QETeTehT PITRIOTAT SRl HRAT UPIFaT R 3Te.
g, Wled 2. RATGE 3. SRS Y. AUS 3. U

A)HH ¢, T ¥ SRR

B)heh ¢,3 d 9 SRR
C)%dh 3 I 9 TR
D) Hd aRIeR

IRDAI &l gdTertehr ehemely Fafid 31me.

C) FIgH Hsd

D) 3R HAThT

AT TUSAT SATHLY fohcdt shdle gewhaied dhuar 3ifedcard 3med?
A) 4

B) 7

C)3

D)8

goll37eT AThC HATHTS dTUTe STA?

A) TS TTaER

B) g¥denal @Xar fash

C) STATRTHAT TTdeR

D) caTetexrdr fAfRrch

gehACHH e 16! JAR W FHABR e I a7 fedt Auflia b 3me?

A) &0 TUTT gl
B) ¢o du adrel



40.

41.

42.

43.

44,

C) &y guT adier
D) &¢ duRN Il

IFSC IT TAAUT F§ 31eR I edfaa?

A) Financial
B) Finance
C) Federal

)
D) Fair

AR HTTAERT HIAGER ATTAGRIE HAigull IS el ST ?

A) TSR 3T TFeH
B) ISR 3iT% ey

C) TR 3% Fuad
D) AT ATEr

IR “SWOT” FEUTSl hTI?

A) System Working On Time

B) Strength Weakness Opportunity Threat
C) Safe Work Of Transaction

D)

JIfhaTHEA “Balance Sheet” FgEUTH HII?
A) T el

B) 3cUearan fBene

Secure Withdrawal Operation

C) UHUT HATIHAT I Seh JraT JHedTdl

D) & 3MehRUN faaor
gﬁl?»r U Reserve Bank of India Y aawé‘c PIOTAT 3Te?

A) www.rbi.nic.in
B) www.rbi.org.in
C) www.rbi.com

)
D) www.rbi.gov.in


http://www.rbi.gov.in/

45. SAARAT 7 'SAGER TdfAfAN & I TEAPd dhredn IT ASTAAE 378
A) 379oft s et
B) WS dY ok

C) #h TdYIsT
D) [T3d udqiaar
46. ARG i holedT daddl iosrel fhdl fgaw 3raa?
A)us fead
B) &o fead
C) 3o g
D) %o feaa

47. GETSIUeRT SITEAT SITE SI0TT BITadTETS! dehl Sl FehE Aehellel?
A) goo HTg
B) &0 Hfgd
C) t0 HAfed
D) e Hfea

48. Deposit Insurance and Credit Guarantee Corporation of India T HhUaTd HrI B
3Te?
A) TRl Sdl T PhatledT IpAT fIAT Aoy
B) SchTAT ATEhIeAT dchd [HBUMRAT Hardl ATfed! ¢UT (awareness)
C) dehciter &diam faar saxfaor
D) ST AT &d d ol A [TAT SATAVHTE 3Yeh HIoT
49. FIpedT AfPIAUS TEGET ATfed Gerel YT 0T PHlomd 319d?
A)Hh dhE
B) Bth olfch YR
C)dh T A URP AT SrEATR
D) iy UReP I IR areiaTe




50. el HeaT e cAT@Teilel UHT 3o 4.

U6 [T 3RTAeAT aeardr JUdld STel 318, oI7 TEdEed TUET eIhrar

AY STl 3G AI STeledT bl faFarl TeFhd daTged ATelhrd dTdl
CITITUTIY 3-11% (Third party insurance) 31217 ICrER IR CTT:] gﬁﬂﬂiﬁf proTear faar
PUATREA W el SASeT?

A) STl SNH el

B) TSh S[Ned hUAT 3HTH ST

C) SBITS] 3[Rl dhueir fo.

D) AT ATEr

51.1949 ALY AU UefAeh faeaftordl Furmar srel?

Which regional university was established in 19497
A)HdE (Mumbai)

B)QUl (Pune)

C) 3IFAAT (Amravati)

D) SleeTqX (Kolhapur)

52. 3 2024 ALY IAET HAX AT JIEPR TIeadl HIS AT o
3TelT &iaT?

Where was the International Mother Teresa Award ceremony held in August 20247

A) HIS (Mumbai)

B)ga$ (Dubai)
C) =t (Sydney)

D) URA (Paris)

53.EIAYT SANTde ATadEe T w4 TeRT Hell JATAT?
When is World Humanitarian Day celebrated every year?

A) 8¢ 3IFTES (18 August)
B) ¢R 3iT9¥E (19 August)



C) e AT (20 August)
D) ¢ 3T (21 August)

54.%g TIPRA ellhsd BIUTHT ald AT ddled AR JIHIRTY TATTA holl
3Rd?

In which two states has the Central Government recently established new peacock
sanctuaries?

A) ATETA HTOT d¥ed (Assam and Kerala)

B)&FﬁE‘cﬁ 37TTOT d¥d (Karnataka and Kerala)

C) e A0 dffiaaATg (Kerala and Tamil Nadu)

D) 3 ST 37107 ALY USA (Uttar Pradesh and Madhya Pradesh)

55. ke JifafFumasd geuiear 100 #HeX ida gaviugs oo A foed
PIUTIT SATAT ATAUE, HTR?

Noah Lyles, who won the gold medal in the men's 100m sprint at the Paris Olympics,
is a sprinter from which country?

A) I (China)
B) @AT (Serbia)
C)%gdr (Cuba)

D) ATICS ¥¢TH (United States)

56. ARITARAAT Wl SUITHTST BIUTAT HATGRIA Jbad “FAAdel AfSehel
{IHEET (NMR) UICaT” g& el 312

Which ministry recently launched “National Medical Register (NMR) Portal” to boost
healthcare?

A)ia\?ilo_-l 30T da< . AT (Ministry of Science and Technology)

B) Ul HIATST (Ministry of Agriculture)

C) 3RITY 10T g HedT0T HATSA (Ministry of Health and Family Welfare)
D)?EI'I?ﬂ'UT e FaTeT (Ministry of Rural Development)

57. ATfIhd o S[BUT HEAT AT

Find odd man out.



58.

59.

60.

61.

62.

63.

22,33,66,99,121,279,594
A) 33

B) 121

C) 279

D) 594

CDE, EDC, GHlI, IHG, KLM, MLK, ?, ? (Complete this series) (HTTolaT lg'USf )
A) OPQ, QPO

B) PQR, RQP

C) OPQ, PQO

D) None of these

abb _baab _bb _abb __aabbbba (Complete this series) (EFIIiaEBI gU‘r &hT)

A) bbbaa
B) aabbb
C) bbabb
D) bbaaa

NOSP:15-14-20-15:: QTHB : ? (Complete this series) (EFITf?I?Fr gU‘f BT)
A)17-19-8-3
B)18-19-9-1
C)18-20-8-2
D) NONE

EXAMINATION 2Y1N301U340 : : EFFORTS ? (Complete this series) (FTferet goT

T

A) 2GGASUT
B) 5GH4STU
C) 2HG14TST
D) 2GG15SUT

Filling the blank with suitable auxiliary verb. | wish I ....... the C.M. of Bihar.

What type of noun is underlined word? The Crowd was very big.
A) common noun



B) proper nhoun
C) collective noun
D) abstract noun

64. Candidates are notallowedto__ for votes on the day of election.
A) canvass
B) canvas
C) canavass

D) canavas

65. Choose the wrong sentence
A) An accident was happened.
B) An accident has happened.
C) An accident happened.
D) An accident had happened.

66. A new way of life recently is consumer culture
Which has affected Indians
Choose the correct alternative that could make a meaningful sequence of the
words.
A) ACDBEF
B) DCAEFB
C) FEDEAB
D) DBCEFA

67. Identify the kind of sentence given below: It’s not in my capacity to help him.
A) simple
B) compound
C)
D)

complex
compound-duplex

68. Choose the correct alternative to complete the following sentence: | will sing if he

A) will ask me
B) asks me
C) asked me

)
)

D) has asked me
69. They the building by 2010.
A) will built

B) will have built



70.

71.

72.

73.

74.

C) build
D) will build

Complete the following sentence by choosing the correct conjunction. Sumiti is

wiser___ Prabha.

A) THAN

B) THAT

C)SO

D) TO
I At least you have done it

A) Hurrah

B) Bravo

C) Alas

D) ouch

SATHLY A0 TURT HIH DT HA?
A) HRd TIPR

B) Re1d 9 31w sf3ar
C)Tee ¥4 3Th sf3ar

D) & o AT fIPOR 3{us SR

Reta e 31T% 3231 ST e dhiar bl & Iy

A)TT YT

B) & T

C) Regd Wt e
D) TH.Te.3TR.

HAT ST 30T gEAas) fAaqRasT J@uIrard! Tsd Aol IaRET
TEAT ST FATF AT A1 N@@el offd caTdiel Ufeel 3181 F AT eregrar 7Y

QaTeTdehT STl 3Te?
A) Force

B) Financial

C) Federal

)
D) Fiduciary

3 FEUTATA?



75.@WET dhelel AdI dTged dTSEErdT DO dioid Graidel Ssel?

76. GETTdhT HIOT b Wrorefl &iATde deb Feu[d Hd@all ST ?

77. QETeTdehT HRATTl HEhRT debicie o [HI=T0T 3MTe.

78. ITcgde RRESTar forera HIomAThd el STdl?



79.5ha Polis felell TFhA NPASTTOE TGl HIUTAT dTS[ell il STeel?

A)@T

B) 3cUeed

C) 3/8c

D) argfafercr

80. “UPI”dT Y&rehad SUT HUTE FRI&TT Cerfellan Hald UUH PIOTT S favdia
hell 3Te?

) AR

) &faroT PR

)

)
)



